There is a bug in the internal program code that is affecting some of the teams’ algorithms,
causing them to fail when the logic is correct. Here is the simple fix for this bug:

1. In the bottom right of your project, click on the “Scan” sprite.
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2. Find this piece of code. You will be adding a single code block here.

repeat until touching Balll =+ 7?7 or touching Ball2* ? or touching Ball3 » 7?7 or size > @

"B No ball found. JB{:T8 ° seconds
set  sensorDistance v to size * @ / @

show variable sensorDistance =

.waitosaennds

hide variable sensorDistance «

set size to o Y%



3. Add the following code block: set sensorDistance to 190 (not 160 like the photo shows)

when | receive  Read distance v

repeat until touching Ball + ? or touching Ball2 *+ ? or touching Bal3 v ? or size > @

change size by o

set  sensorbistance + to () h

EEV  No ball found. Bils o seconds

set sensorDistance + to size * @i @

show variable sensorDistance «

wait o seconds

hide variable sensorDistance v

set size to o % @



MIT OpenCourseWare
https://ocw.mit.edu/

SP.248 NEET Ways of Thinking
Fall 2023

For information about citing these materials or our Terms of Use, visit: https://ocw.mit.edu/terms.



https://ocw.mit.edu/
https://ocw.mit.edu/terms



